127-017(  781) (1/1)

cm
10|20
10(20|30
0 1 30 40 50 60
E 0.70 0.7 E
= AYAYAYAYAY -
- A\YAVAVAVAV 6 —]
AN 1.15 6 —
(VAVAVAVAY] =
AN 212]2 3] ¢4 E
(VAVAVAVAY] 1.45 —
NN AN =
s ; s
\VAVAVAVAY, |2-15 7 =
AN ol 1l 23] o =
(VAVAVAVAY] 4
AN 245 =
(VAVAVAVAY] =
NN AN 3
o0 > / |
\VAVAVAYAY] I 11111130 3 =
AN : =
(VAVAVAVAY] =
AN 5 =
(VAVAVAVAY] 4.15 5 —
IAYAYAVAWAY —
A\YAVAVAVAY 2 1 2 30 B 3
IAYAYAYAYAY 4.45 —
A\YAVAVAVAV —
AN ; =
(VAVAVAVAY] —
AN 515 / =
\VAVAVAVAV] 2121313 7 -
NNAAN 5.45 =
A\YAVAVAVAY
R |
AANAN 6.70 16.15 | ? =
6.50 569" )/ VY . ol ol b =
6.45 =
7.15 4 =
/ -
1l1]2]3]| 4 =
7.45 =
8.15 5 =
/ -
122 |3]| ¢4 =
8.60) 845 =
9.15 1
/
41433/ 1
9.45
9.90 =
10.15 5 =
7 -
2|12 |3]| ¢4 =
10.60 10.45 =
s =
11.15 8 =
3l2|3|3]| ¢4 =
11.45 =
12.15 7 =
/
2123 |3]| 17
12.45 —
12.8 =
13.15 15 —
/
E 5 5|5 |30] 19 =
E 13.45 =
Eu 14.15 % =
E ol 5|8 |10[30]| 23 =
E 1445 =
F |14.80 2.00.7.".". ¢ =
—— 15.15 1
I [15.45 0.65— ——— 5156 |30] 1




